Practice questions — Year 3 — Money

. £7.65=__ p (money)

. 324p=£ ___ (money)

. £4.28=___ p (money)
51p=£ __ (money)
£1.20 + £2.35 = (money)
. £3.45+ £1.15 = (money)
. £7.50 - £3.25 = (money)

. £1.28 + 342p = (money)
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. £4.77 + 225p = (money)

10. £2.15+ 310p = (money) +]-=]x]+
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Practice question answers — Year 3 — Money

. £7.65 = 765p (money)

. 324p = £ 3.24 (money)

. £4.28 = 428p (money)

51p = £ 0.51 (money)

£1.20 + £2.35 = £3.55 (money)
. £3.45+ £1.15 = £4.60 (money)
. £7.50 - £3.25 = £4.25 (money)

. £1.28 + 342p = £4.70 or 470p (money)
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. £4.77 + 225p = £7.02 or 702p (money)

10. £2.15 + 310p = £5.25 or 525p (money)
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